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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. odemel gduey o19q Y3 U W A1 Afqarda: fad |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. T A % e 9 s TR H foRdlt g & Ife / 3R / fateny® g9 W
&= T % A I WEl " |
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should be
treated valid.

3. 9t g A AT € | U3 FHI 239 24 H 3Tide fahed © |

All the questions are compulsory. There are internal choices in
Question Nos. 23 and 24.

4. Y% G K1 I S TS ST-GREeh1 § B ford |
Write the answer to each question in the given answer-book only.

5. o ueH % T ¥ ifyew guE sisharal i €, 39 9 Wil @1 g T Wi Haq
ferd |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. I HEN 29 5% 310 AAUHE YA § 5k S Iow 1< 9

15 I/ 9k S © | U1 9@ 69 13 Tk o Yds ST 30 Vdl deh To U

T 14 9 21 9% & Yo 3T 100 IS] dh <4 & | Tk YT & 3 S9h
A fea ™ E

Question Nos. 2 to 5 are very short answer type. Their answers are to
be given in 1 to 15 words each. Answers to Question Nos. 6 to 13 are
to be given within 30 words each and answers to Question Nos. 14 to
21 are to be given within 100 words each. Marks of each question are

given against it.

7. YT HHE 1% I A (i, i, i 990 iv ) § | T 9N & I & 9O fahey

(3, &, AT ) ¢ | TET fasheq o1 SR STR-Ye § frerqer arfersn

EEIC TR IGEC i

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

W9 shUieh TEl ST hT hHTRR
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)
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1. (i) 9Rd &1 TR 9eermE faia @

(1) == () <SR |HH

(9) wE () |

Non-conventional export of India is

(A) Tea (B)  Handicrafts

(C)  Spices (D)  Cashewnuts. 1
(i) WA § IS SR 1 TS foha T

(1) 154M€, 1952 I (9) 153, 1950 i

(9) 0637, 1952 I (3) 1544, 1950 |

Planning Commission was set up in India on

(A) March 15, 1952 (B)  August 15, 1950

(C)  August 06, 1952 (D)  March 15, 1950. 1
(ili) FEYT ST YUeHt i JeeAd f=ifea frg <o § g3 2

(31) ST () =

(W) v (3) 9NE |

Internet system was first started in which of the following

countries ?

(A) America (B) China
(C) England (D)  India. 2
(v) = H IR T S 6 ©

(31) e () @S ad

(9) =amE-TE () fomgm |

Non-conventional source of energy among the following is

(A) coal (B) mineral oil

(C) Dbio-gas (D) electricity. %
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2. SHEEA ¥ W N I R ?

What is meant by population density ? 1
3. fmafd (2002 % eR W ) &1 W |, IRA *1 fava steforazen # SH-91 wH
g2

Which is the position of India, with reference to export ( on the base of

2002 ) in the world economy ? 1
4. foh fafa geram sifafam ( ThoZoTHoTo ) 1999 &1 & ST FN T ?

What is the main objective of Foreign Exchange Management Act,

1999 (FEMA ) ? 1

5. WRd H 7 Aferd wrasiiien fadtor Yumell e 9 N i T ?

When was the new target public distribution system started in

India ? 1
6. G U SId IUfGUTSH T ATGUSH & s di HRU fafEm |

Write any three causes of land subdivisions and scattering of holdings

1 1 1 1
in India. 5 +5 +§:1§

7. <@ % fowm § Uil UTH S AR AT Fanel #l w@raertst sHH 7Y
HTE A gema e |

Give any three suggestions for ensuring people's participation in

development of the country and for making the village youths self

1 1 1 1
reliant. 5 +t5 +5 = 15

8. Y T PR I H whig dI1 3T TIE HifaT |

Explain any three differences between small and cottage industries.
1 1 1 1

g t3 +3 =13
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9. YNd R &l W Hifd & fe=gl dF dcdi &1 Sl ity |

Mention any three features of India's Food Policy. % +

N —
+
N —
1]
P
N —

10. TifSH % STIER, TN STUAH F UHON HT 1 aTet g o oy fafay |

According to Gandhiji, write any three benefits to villagers from

. . 1 1 1 1
adopting Swadeshi. 5 t+t5 +5 =15

11. 3% AER, 9Ra H sirenfie foa &t frl &9 yg@ sl &1 w9 st |

According to you, explain any three important deficiencies of industrial

finance in India. % + % + % = 1%
12. fedta daadfa I & fo=l &9 el =1 fafae |

Write any three objectives of Second Five-Year Plan. 5 + % + % = 1%
13. STArgenien fan & fR=g1 d9 HRshAl &1 Seerd Hifg |

Mention any three informal educational programmes. 7 + % + % = 1%
14. 99 fa@m® Tq *IE dH gea g |

Give any three suggestions to develop forests. 1+41+41=3
15. 9T AdeTaed & faehreeiiel To&q i SR oeil g i TorIodisdi =l

HIfST |

Explain any three features of Indian economy showing India as a

developing economy. 1+1+1=3

16. fwdl off 2w 1 srefogawen & fau, snfefe f=em & " &1 fo=l 99 ey

T Y AT |

Explain importance of economic planning for the economy of any

country on any three grounds. 1+1+1=3
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17. YA Adgazen i faceit faw & fesl ©: Fufad el &1 Seoi@ shifag |

Mention any six probable benefits to Indian economy from foreign

investment. 6 x % =3

18. 9Rd o Tl ©: U@ 3l %l fafE |

N| —
Il
w

Write any six important imports of India. 6 oo

19. HfH I7g FHATIS & & AUR R FG=rE gfdrsmnedi 1 sffertor sifse |

Give classification of irrigation projects on the basis of cultivable

command area. 1+1+1=3

20. YRd &t I SAg@ Hifd (15 ®E, 2000 ) & 6=l ©: 9@ 9@l &
I HITT |

Mention any six main features of National Population Policy ( February

15, 2000 ) of India. 605 =3

21. 3% TER, WRd | HTt fox 1 12 i HiHar a1 9 Faqry |

According to you, state any three shortcomings or defects of

agricultural finance in India. 1+1+1=3

22. YRA H TS qUT ISR i THEA & I ¢ Hartad foh=l S: Hrdwul &1

wfarg auia sifsa |

Explain briefly any six programmes implemented for removal of

poverty and unemployment problem in India. 6x1=6
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23. ¥RA ¥ e faem & gl ©: yq@ g9wnsii 1 auie St |
JrerEr
IRd H W= 3T &l gl ©: T@ 9l &1 auid ey |

Describe any six major problems of industrial development in India.

6x1=6
OR
Describe any six major problems of cement industry in India.
6x1=6
24. 9RA H A= $Y IHCHAT & hlg q1 RO FHSASY | FHT IACHal § Jfg &

for=gl i Ul =1 gara <ifeg |

3

qRd H g shifd & foh=gl o 9q@ dcl sl §9AT | YR ¥ 389 Tzl I
YTell ST 0 HITST |
Explain any three reasons for low agricultural productivity in India.

Suggest any three methods to increase agricultural productivity.
(3©1)+(3x1)=6
OR

Explain any three main features of Green Revolution in India. Describe

any three effects of it in India. (3©1)+(3»1)=6
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